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QUESTION 1

Before you build an ARMA model, how can you tell if your time series is weakly stationary?
A. There appears to be a constant variance around a constant mean.

B. The mean of the series is close to 0.

C. The series is normally distributed.

D. There appears to be no apparent trend component.

Correct Answer: A

QUESTION 2

What is LOESS used for?

A. It fits a smoothed curve to scatterplot data,to give a general sense of the data\\'s behavior.

B. It is a significance test for the correlation between two variables.

C. It plots a continuous variable versus a discrete variable,to compare distributions across classes.
D. Itis run after a one-way ANOVAto determine which population has the highest mean value.

Correct Answer: A

QUESTION 3

How are window functions different from regular aggregate functions?

A. Rows retain their separate identities and the window function can access more than the current row.
B. Rows are grouped into an output row and the window function can access more than the current row.
C. Rows retain their separate identities and the window function can only access the current row.

D. Rows are grouped into an output row and the window function can only access the current row.

Correct Answer: A

QUESTION 4
What is required in a presentation for business analysts?
A. Budgetary considerations and requests

B. Operational process changes
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C. Detailed statistical explanation of the applicable modeling theory
D. The presentation author\\'s credentials

Correct Answer: B

QUESTION 5
Refer to the Exhibit.

In the Exhibit. For effective visualization, what is the chart\\'s primary flaw?

Growth of SuperBox Stores
(Count of Stores)

B SuperBox BigBox

100 A

A. The use of 3 dimensions.

B. The slanting of axis labels.
C. The location of the legend.
D. The order of the columns.

Correct Answer: A
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